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GEOGRAPHY
(Theory) |
Full Marks : 70
Pass Marks : 21
Time : Three hours
All the questions are compulsory.

~ The figures in the right margin indicate full marks Jor the questions.

Answer Question Nos. 1 to 4 are Multiple Choice Questions.
Choose the correct answer from the four alternatives and
rewrite it along with the corresponding alphabet.

Isochrones are the lines drawn on the map joining places having equal in term
of : ; 1

(A)- Time distance

(B) Physical distance

(C) Economic distance

(D) Total cost distance

The State of India which has the largest number of net-outmigration is : 1
(A) Maharashtra

(B) - Delhi

(C) Gujarat

(D) Uttar Pradesh
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Which one of the following is the minimam size of a settlement to be designated
as urban in Colombia ? 1

A. 1000 Population
B. 1500 Population
C. 2000 Population
D. 2500 Population

Which one of the following industries of India belongs to the category of foot
loose industry ? 1

A.  Cotton textile industry
B. Sugarindustry

C. Iron and steel industry
D.

Information Technology industry
Answer Question Nos. § to 13 in a sentence each.

Mention the population composition that gives an important information about
the status of women in a country. 1
What is meant by heat island ? 1
State the main objective of the Namami Gange Programme launched in India.1
How is Human Population Index (HPI) related to Human Development Index

(HDI)? 1
Why does Kerala record the highest value of Human Development Index (HDI)
inIndia? ' 1
How are acid rains caused in big cities of India ? | 1
Give reason why the proportion of litérate population is considered as an indicator
of socio-economic development of a country. . 1
Why is there a little traffic on the sea route between Rio - de - Janeiro and Cape
Town ? 1
“There is a great need to establish more Co-operative Societies in Manipur”. Giveone
reason. 1
Draw a diagram of Double village. ' 1
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Answer Question Nos. 15 to 23 in about 30 words each.

What are the two types of Intensive Subsistence Farming practised in Tropical
countries ? 2

State the two factors that determine the type of rural settlement in Manipur. 2

Explain how Human Poverty Index is more revealing than Human Development

Index. 2
Mention two advantages of using optic fibre cables in the field of Communication.

2
Explain any two positive consequences of migration in Manipur. 2

“India has emerged as the leading country of medical tourism in the world”. Jastify
the statement by citing two points. 2

Suppose the growth of population of a town ‘A’ was marked as 15 lakhs in 2021

census to 25 lakhs in 2011 census. Calculate the decadal growth rate of population
of the town. j 2

“Sea ports are considered as gateway of Intemnational trade”. Justify the statement
by giving two points. 2

Manipur has entered an age of transport revolution. Verify the statement by giving
two examples in context of Mumbai Port. - 2

On the outline map of India provided, mark and table therein the following.
1+1=2

(A) HVIJ National Gas Pipelines
(B) Bhadravati steel plants
Answer Question Nos. 25 to 31 in about 50 words each.

Point out the three conditions on which the development of inland water transport
depend. 3

Explain how the efficiency of ocean transport is improved now-a-days. 3
How could an Urban Agglomeration be identified ? 3
Mention any three major problems of slum dwellers in big cities of India. 3
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«That neither is there a situation of absolute necessity nor is there a condition of
absolute freedom”. Verify the statement. . 3

“There has been‘a significant increase in agricultural output and improvement in
technology during last fifty years in India”. Support the statement by citing three
examples. 3

Justify the fact that farmers in Manipur do not get a fair return for their crops by
giving three reasons. 3

Answer Question Nos. 32 to 34 in about 150 words each.

Write an account of five types of Indian roads transport classified on the basis of

construction and maintenance. 5
' OR
Give an account of the change pattern of India’s export and import trade. 5
Explain the characteristic features of commercial live stock rearing carried
out in Temperate world. 5
OR '
Classify industries based on the type of raw-materials used.
Explain any five problems associated with Indian agriculture. 5
OR

Explain any five factors influencing to the location of industries in India. 3
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